TIME - DAY 3

Analogue to digital - 12 hour




STARTER

Match the times.




STARTER

Match the times.




FLUENCY

Draw the hands on the clock face to represent the digital time.

12:19




FLUENCY

Draw the hands on the clock face to represent the digital time.

12:19




FLUENCY

Convert these AM times to digital and order them from earliest to
latest.




FLUENCY

Convert these AM times to digital and order them from earliest to
latest.

[ 01:30am ] [ 05:44am ] [ 07:15am ]




REASONING

Grayson arrives at the dog show at the time shown on the analogue
clock. He thinks he’s on time to watch agility.

Event Start Time
Agility 10:33am
Best in show 10:52am
Obedience 11:16am

Is he correct? Explain why.



REASONING

Grayson arrives at the dog show at the time shown on the analogue
clock. He thinks he's on fime to watch agility.

Event Start Time
Agility 10:33am
Best in show 10:52am
Obedience 11:16am

Is he correct? Explain why.
Grayson is on time to watch the agility as he is 10 minutes early.



PROBLEM SOLVING

Which is the earliest and latest time?

06:22am

[Oézlaam ] [ 10:24pm

09:59pm ]




PROBLEM SOLVING

Which is the earliest and latest time?

earliest

06:22am

[ 06:18am ] [ 10:24pm

[ 09:59pm ]

latest




Reasoning and Problem Solving questions.

Choose between Grey, Green or Gold Group...




1a. Carter arrives at the zoo at the time
shown on the analogue clock. He thinks
he’s on time to watch the sealion show.

Event :::1 :

Petting zo00 10:45am
Lion feeding 11:10am
Sedlion show 11:30am

Is he correct? Explain why.

GREY GROUP

3d. These clocks both show the same
time. What could the missing minute hand
and hour be?




GREEN GROUP

4qa. Ryan arrives at the cinema at the time ba. These clocks both show the same
shown on the analogue clock. He thinks time. What could the missing minute hand
he’s on time to watch Space Wars. and hour be?
Start

Lo Time

Captain ]

Britain 11:30am

Space Wars 11:4éam

Spider Boy 12:07pm

Is he correct? Explain why.
N



GOLD GROUP

7a. Lovis arrives at the theatre at the fime ?a. These clocks both show the same

shown on the analogue clock. He thinks time. What could the missing minute hand
he’s on fime to watch the play. and hour be?
Start
Act Time

Warm-up act | 07:12pm

Play 07:2Bpm

Interval 08:47pm

Is he correct? Explain why.



